
Home » PLT » PLT Dual UFO Hanger Bracket Installation Guide  

Contents
1  PLT Dual UFO Hanger
Bracket
2  Installation Instructions
3  Safety Warning
4  Contact Information
5  Documents / Resources

5.1  References

PLT Dual UFO Hanger Bracket

PLT Dual UFO Hanger Bracket Installation Guide

Manuals+ —  User Manuals Simplified.

https://manuals.plus/#content
https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/plt
https://manuals.plus/plt/dual-ufo-hanger-bracket-manual.pdf
https://manuals.plus/#plt_dual_ufo_hanger_bracket
https://manuals.plus/#installation_instructions
https://manuals.plus/#safety_warning
https://manuals.plus/#contact_information
https://manuals.plus/#documents_resources
https://manuals.plus/#references


WARNING
Installation, service, and maintenance of luminaries should be performed by a qualified licensed electrician.

Installation Instructions

1. Use 4 M5*16 hex screws to lock the u-bracket on the UFO fixture.

2. Attach the UFO with the u-bracket to the connecting rod using 2 M12*30MM screw assemblies.

Note: M 12*33mm screw assembly consists of:

2 M 12*30 screws

2 M 12 spring washers

2 M 12 flat washers

2 M12 nuts

2 mounting plates



3. Use 2 KM3*6MM screws to lock the junction box on the side (as shown in Figure 3-1) or the bottom ( as shown

in Figure 3-2) of the mounting bar.

4. Connect the AC line of the lamp power supply with the wiring terminal of the light module and put it into the

junction box.

5. Insert each cable clip into the holes on the mounting plates at both ends of the support.



6. Hang the cables on the ceiling hooks, then adjust the dual hanger mount by pressing the cylinder on the cable

gripper. Push or pull the cable until the hanger is properly balanced.

7. Turn OFF the power, connect the AC line, and adjust the light.



Safety Warning

Before installing, servicing, or performing routine maintenance on this equipment, follow these general

precautions.

To reduce the risk of death, personal injury, or property damage from fire, electric shock, falling parts,

cuts/abrasions, and other hazards, read all warnings and instructions included with and on the fixture box and

all fixture labels.

Proper grounding is required to ensure safety.

Power must be turned off at the breaker before installation or maintenance.

This product must be installed under the applicable installation code by a person familiar with the construction

and operation of the product and the hazards involved.

Wear gloves and eye protection at all times while installing, servicing, or performing maintenance on the

luminaire, and avoid direct eye exposure to the light source while it is on.

To prevent wiring damage or abrasion, do not expose wiring to the edges of sheet metal or other sharp objects.

Do not install damaged products. Inspect the luminaire for damage that may have occurred during transit. If

damaged, contact the manufacturer immediately.

These instructions do not purport to cover all details or variations in equipment nor to provide every possible

contingency to meet in connection with installation, operation, or maintenance. Should further information be

desired or should particular problems arise that are not covered sufficiently for the purchaser’s or owner’s

purposes, contact the manufacturer.

Contact Information

972-535-0926

pltsolutions.com.

Documents / Resources

PLT Dual UFO Hanger Bracket  [pdf] Installation Guide
PLT-13072, Dual UFO Hanger Bracket, Dual UFO Bracket, Hanger Bracket, Dual UFO Hanger, 
Hanger, Bracket

References

User Manual

Manuals+, Privacy Policy

This website is an independent publication and is neither affiliated with nor endorsed by any of the trademark owners. The "Bluetooth®" word mark and logos are registered trademarks owned by Bluetooth
SIG, Inc. The "Wi-Fi®" word mark and logos are registered trademarks owned by the Wi-Fi Alliance. Any use of these marks on this website does not imply any affiliation with or endorsement.

https://phone.gd/phone/972-535-0926
http://pltsolutions.com
https://manuals.plus/m/d77793a385ce0cb6eea159d02702048e13f0f0d11b1ea3988ed4d6074e683e1b
https://manuals.plus/m/d77793a385ce0cb6eea159d02702048e13f0f0d11b1ea3988ed4d6074e683e1b_optim.pdf
https://manual.tools/?p=13483996#MTA0LjI4LjIwMi4xNzk7Ozs7
https://manuals.plus/
https://manuals.plus/privacy-policy

	PLT Dual UFO Hanger Bracket Installation Guide
	PLT Dual UFO Hanger Bracket
	Installation Instructions
	Safety Warning
	Contact Information
	Documents / Resources
	References



